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ifapUg;G jhs; (ifapUg;G NgNuL) 

jpfjp 

nfhs;tdTfs; toq;fg;gl;lJ Balance 
myFfspd; 
vz;zpf;if 

mynfh
d;wpd; 
fpuak; 

nkhj;j 
njhif 

myFfspd; 
vz;zpf;if 

mynfhd;
wpd; fpuak; 

nkhj;j 
njhif 

myFfspd; 
vz;zpf;if 

nkhj;j 
njhif; 

1.4.16       16,000 256,000 
10.4.16    5,000 16 80,000 11,000 176,000 
20.4.16 10,000 17 170,000    21,000 346,000 
15.4.16 37,000 15 555,000    58,000 901,000 
25.4.16    30,000 15.53 465,900 28,000 435,100 
10.6.16 41,000 18 738,000    69,000 1,173,100 
29.6.16    8,000 17 136,000 61,000 1,037,100 

 



];gpupr;Rty; bNubq; PLC 
fhRg;gha;r;ry; $w;W (nraw;ghl;L eltbf;iffspy; ,Ue;J) 
31 khu;r; 2016 Kbtile;j Mz;Lf;fhd epjpepiyf; $w;Wf;fs; 
 

,af;f eiltbf;iffspy; ,Ue;J epjpepiy   

tuptpjpg;gpw;F Kd;djhd epfu ,yhgk;   1>850>000 

rupnra;jYf;fhd   

Nja;khdk; 300>000  

mfw;wy; ,og;Gfs; 50>000  

tl;b nryTfs; 200>000  

gzpf;nfhilf;F Vw;ghL 450>000 1>000>000 

njhopw;gL %yjd Ke;jpa ,af;f ,yhgk;   2>850>000 

ifapUg;gpy; mjpfupg;G (3>400>000)  

tpahghu tUkjp Fiwg;G 520>000  

tpahghu nrd;kjp mjpfupg;G 1>330>000 (1>550>000) 

,af;f eilntbf;iffspy; ,Ue;J fhR cUthf;fk;   1>300>000 

nrYj;j Ntz;ba tl;b (70>000)  

nrYj;j Ntz;ba tUkhd tup (180>000) (250>000) 

njhopw;ghlL eltbf;iffspypUe;jhd epfuf; fhRg; 
gha;r;ry; 

 1>050>000 

 

tUkhd tup 
fhR    180>000   B/B/F   300>000 

B/C/F    570>000   , kw;Wk; e  450>000 

    750>000      750>000  
 

tl;b 
fhR     70>000   B/B/F   120>000 

B/C/F    250>000   , kw;Wk; e  200>000 

    320>000      320>000  

(05 Gs;spfs;) 





(a)  
epjpepiyf; $w;Wf;fspd; gpupj;njLg;Gf;fs; 
 

eilKiway;yhr; nrhj;Jf;fs;   

Fj;jifr; nrhj;Jf;fs; 8>500>000  

Nja;khdk; (1>062>000)  

nfhz;L nry;Yk; ngWkjp  7>437>500 

Fj;jiff; fld; nghWg;Gfs;   

Muk;g kPjp   

Mz;by; ngw;w trjpfs; 5>100>000  

Mz;by; kPsr; nrYj;jpait (646>640)  

Kd;$l;ba njhf;Ffs;  (536>000)  

,Wjp kPjp  3>917>360 

Fj;jiff; fldpd; eilKiwapYs;s 
gFjp 

 750>102.40 

Fj;jiff; fldpd; eilKiwapy; my;yhj 
gFjp 

 3>167>257.60 

 

Fj;jifr; nrhj;Jf;fs; 8 tUl Nja;;khdk; cs;sJ. PPE ,idg; NghyNt 
(cupikahsu; khw;wg;gl;Ls;sJ)  

 

tUkhdf;$w;W 

PPE Fj;jif nrhj;jf;fspd; Nja;khdk;  1>062>500 

tl;br; nryTfs;   730>240 

 

 



Fj;jif epiykhWk; ml;ltiz 

tUlq;fs; Muk;g kPjp tl;b 
jtizf; 
nfhLg;gdT 

,Wjp kPJ 

1 4>564>000.00 730>240.00 (1>376>880.00) 3>917>360.00 

2 3>917>360.00 626>777.60 (1>376>880.00) 3>167>257.60 

3 3>167>257.60 506>761.22 (1>376>880.00) 2>297>138.82 

4 2>297>138.82 367>542.21 (1>376>880.00) 1>287>801.03 

5 1>287>801.03 206>048.16 (1>376>880.00) 116>969.19 

 
 Kjyhk; tUlj;jpy; 5>100>000.00 ,Ue;J 536>000.00 fopf;fg;gl;lJ 

(6 Gs;spfs;) 

 

 

b) LKAS 08 gb> gaDs;s capu;r;nrhj;Jf;fspd; khw;wq;fshdJ fzf;fpay; kjpg;gPLfspd; 

khw;wq;fshf fUjg;gLfpwJ. kjpg;gPLfspd; khw;wq;fs; tha;g;ghf fzf;fplg;gLfpwJ. mJ 

jw;Nghija tUlj;jpw;Fk; kw;Wk; vjpu;fhy tUlj;jpw;FkhFk;. 

(04 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

 



(a) R`j N`hy;bq; PLC, 
Kw;wlf;ftUkhdf; $w;W 
2016 khu;r; 31 Me; jpfjp Kbtile;j Mz;bw;fhdJ. 

           &.(‘000) 
 Fwpg;G   

tpw;gid                       77>200 

tpw;gidf; fpuak;   (52>748) 

nkhj;j ,yhgk;   24>452 

Vida tUkhdk; 01  1>240 

   25>692 

tpepNahfr; nryTfs;  (7>225)  

epu;thfr; nryTfs;               (7>542)  

Vida nryTfs  (100)  

epjpr; nryTfs;                 02 (958.8) (15>825.80) 

tupf;FKe;ija ,yhgk; 03  9>866.20 

tup 04  (330) 

tupf;Fgpe;ija ,yhgk;   9>536.20 

    

gpwKw;wlf;f tUkhdk;    

epykPs;kjpg;G   1500 

Mz;Lf;fhd nkhj;j Kw;wlf;ftUkhdk;   11>036.20 

 
(10 Gs;spfs;) 

 



(a) R`j N`hy;bq; PLC, 
epjpepiyf;$w;W 
2016 khu;r; 31 ,y; cs;sthwhdJ. 

&.(‘000) 
tpguk; Fwpg;Gfs; njhif njhif 

nrhj;Jf;fs;    

eilKiway;yhr; nrhj;Jf;fs;:    

Mjdk;>nghwp kw;Wk; cgfuzk; 05 18>195  

KjyPL–gl;bayplg;gl;l gq;Ffs;  3>051.20 21>246.20 

eilKiwr; nrhj;Jf;fs;:    

njhf;Ffs;  15>040  

tpahghu tUkjpfs;  6>350  

Kw;nfhLg;gdTfs;  510  

FWq;fhy KjyPlfs;  360  

tq;fp kPjp  390  

fhRf; ifapUg;G  20 22>670 

nkhj;j nrhj;J   43>916.20 

cupikahz;ikAk; gupg;GfSk;    

Fwpg;gpL %yjdk; 06 6>000  

kPs;kjpg;G xJf;fk;  1>500  

iff;nfhs; ,yhgk;  16>434.20  

nkhj;j cupikahz;ik   23>934.20 

eilKiway;yhg; gupg;Gfs;    

fhyf; fld;   4>000 4>000 

eilKiwg; gupg;Gfs;    

tpahghu nrd;kjpfs;  3>400  

NtW FWfpa fhyf;fld;  11>000  

ml;LW nryTfs;  1>102  

nrYj;j Ntz;ba tUkhdtup  480 15>982 

nkhj;j cupikahz;ikAk; gupg;GfSk;   43>916.20 

 
 

(8 Gs;spfs;) 



(a) R`j N`hy;bq; PLC 
cupikahz;ik khw;wq;fs; gw;wpa $w;W 
2016 khur; 31 Me; jpfjp Kbtile;j Mz;bw;fhdJ 

           &.(‘000) 
 Fwpg;gpL 

%yjdk; 
kPs;kjpg;G 
xJf;fk; 

iff;nfhs; 
,yhgk; 

Muk;gj;jpy; kPjp 6>000  7>898 

nkhj;j gpwKw;wlf;f tUkhdk;  1>500 9>536.20 

gq;Fyhgk;   (1>000) 

nkhj;jk; 6>000 1>500 16>434.20 

 

(3 Gs;spfs;) 

 

(b) Fwpg;G 05 - fpuak; / kjpg;gPL 
&.(‘000) 

tpguk; fhzp fl;llk; 
Nkhl;lhu; 
thfdq;f

s; 

jsghlk; 
kw;Wk; 

,izg;Gf
s; 

nkhj;jk; 

Muk;gj;jpy; kPjp 3>500 15>000 7>500 4>400 30>400 

kPs;kjpg;G 1>500    1>500 

mfw;wy;   (3>500)  (3>500) 

nkhj;jk; 5>000 15>000 4>000 4>400 28>400 

Nja;khdk; 

Muk;gj;jpy; kPjp  2>600 3>500 2>550 8>650 

Mz;Lf;fhd 
fl;lzq;fs;  750 1>325 880 2>955 

mfw;wy; ,og;G   (1>400)  (1>400) 

nkhj;jk;   3>350 3>425 3>430 10>205 

2016 khur; 31 ,w;F 
nfhz;L nry;Yk; 
ngWkjp 

5>000 11>650 575 970 18>195 

 
(4 Gs;spfs;) 

(nkhj;jk; 25 Gs;spfs;) 

 





nraw;ghL 1 – nryT ml;ltiz       &.(‘000) 
tpguk; tpepNahfk; 

nryT    
epu;thfk; 
nryT 

Vidait 
nryT 

mfw;wy; ,og;G   100 

Nja;khdk; 1,325 1,630  

mq;fj;jtu; fl;lzk;  170  

ghjff; fld; 500   

kpd;rhuk;  68  

njhiyNgrp  24  

guPl;ir kPjpapy; ,Ue;J 5,400 4,150  

Neubf; fl;lzk;  1,000  

fzf;fha;Tf; fl;lzk;  500  

nkhj;jk; 7,225 7,542 100 

 
 

nraw;ghL 2 – nryT ml;ltiz 
 

%yjd kjpg;gPL   = 800,000+160,000  
        10,000,000  
= 9.6%  

%yjdj; njhiffs;   = (1,700*9.6%*3/12) + (1,300*9.6%*1/12) = 51.2  

     = 960-51.2  

= 908.8 

 

 

nraw;ghL 3 –,yhgk; my;yJ ,og;G mfw;wy; 
 

Nkhl;lhu; thfdq;fs; 3,500.00 
Fiwthd Nja;khdk; (1,400.00) 
epfu Gj;jf ngWkjp 2,100.00  
tpw;gid 2,000.00 
mfw;wy; kPjhd ,og;G 100.00 



(a) (i)  
ed;kjpg;G fzpg;G 

ngw;Nwhu; KjyPL = 100>000 

NCI epaha kjpg;G = 50>000 

nkhj;jk; = 150>000 
 

,og;G – ifafg;gLj;Jk; Njfjpapy; epfu nrhj;Jf;fs; 
Jiz Fwpg;gpL %yjdk; = 100>000 

nghJ xJf;fk; =   5>000 

iff;nfhs; ,yhgk; =  40>000 

nkhj;jk; = 145>000 
 

ed;kjpg;G =  5>000 

 

(ii)  
KDL fk;gdp 
epjpf;$w;Wfspd; xUq;fpize;j mwpf;if 

2016 khu;r; 31 w;fhdJ.        &.(‘000) 

Mjdk;>nghwp kw;Wk; cgfuzk; (95000+19500-120+200-80-50+20)  114>470 

ed;kjpg;G  5>000 

eilKiwr; nrhj;Jf;fs;   

njhf;Ffs; (10000+10000-1000) 19>000  

tpahghu tUkjpfs; (210000+212000-2000) 420>000  

FWq;fhy KjyPL 35>000  

fhR (5700+1450+1500) 8>650 482>650 

nkhj;j nrhj;Jf;fs;  602>120 

   

%yjdk; kw;Wk; nghWg;Gf;fs;   

Fwpg;gpL %yjdk; 200>000  

nghJ xJf;fk; 21>500  

iff;nfhs; ,yhgk; (nr-2) 135>540  

ngw;Nwhu; gq;F  357>040 

fl;Lg;ghlw;w tl;b (nr-1)  59>580 

nkhj;j gq;F  416>620 

eilKiwg; nghWg;G (112000 + 74000 - 2000 + 1500)  185>500 

nkhj;j gq;F kw;Wk; nghWg;Gfs;  602>120 

(21 Gs;spfs;) 






